al=u

.,
120 L‘r‘iﬂﬁ J—'hC/’Vﬁ'

'l

o4
incamation oft
Choose the maost appropriate answer from the
options given below:
(A)  Parvati
(BY Bhadra Kalj
(C)  Durga
(M Mahalaxmi
(EY  Question not attempted
Frrfefian e # & wrarfires g s i
(A) OTEd
(B) WETHT!
AC) T
(D) wETeEH!
(E) HIaia ¥F
,2/ In which famous temple of Rajasthan do we find

rats by the thousands?
Choose the mast appropriate answer from the
options given below:
(A) Kami Mata Temple
(B) Kaila Devi Temple
(C) Jeen Mata Temple
(D) Ma Tripur Sundari Temple
(E) Question not attempted
e 3 o s e e < e 3
e AT 7
Erferfin faaredl 3 & wAITO Jugh I
.,[f,(] Envigin gf=1
By A wdh wR
(C) oy =T uf=t
(D) ¥ Frgrd W
(F) SHEf@ e

JKL-Z10] =

0L ~)-~2
- o_i Grorvred, Tﬂ}’q_lic?fq}/

4

The Goddess il ol it o e L
d Kaila Devi is considered an [ 37 As per the classification of musical instrurnents,

to which family does the “Tkiaara™ helony!
Choase the maost appropriale answc from the

aptions given helow:

in)  Chan (1 lat

(C)  Sushir iy Avnadhya

(E)  OQuestinn not atempted

11 o 5 ey & e o T A
7

fretferfim forrit @ Frartfares 307 20 T3
AX) ™ (B) =T

(c) @fm (D) wAFAT™
(E) @i ga

/ Mastitis disease is found in which combination of

following herd/Nock?

Choose the most appropriate answer {rom the
options given below:

(A) Sheep and fowl

(B) Cattle including buffaloes

(C) Sheep and goat

(D) Pigand Goat

(E)  Question not attempted

Preferfa & & P o (ais) & e (i
T AT 27

P Rt & wrartfires o 7o .
(A) s o
(Y S¥ai & ara g (0
() g alwal
(D) gewaE
(B) ERA T
[ Contd...
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Ao ol the tirst clonesd sheep was

Choose the rerss u,rrf'rr-;'n'.:r-.' answer rom the

aptions given el

(A Poly (13 Rosie
(L Nolly (1M el
(9 Question naot '.1llL'mpqu |

e wrel A 1 rd S A A
Smfafias fraenl 1 @ watfis gugm 3 3:4

NESR G (T
() HE (D) =<Yeh
Y SEETE u

L%
Granular white ghee obtai net!'_' 'Iirnm buflalo is due
to the feeding of __..‘c';'l-:cs.
Choase the most appropriate) answer from the
options given below: =

{A)  Groundnut (B) Cotton seed
<

(Cy  Mustard D) 1.msu:d

(E}  Question not atlempted™

9 ¥ g9 § ¥ TER tﬂ@ﬁr 0 ¥ fog ?ﬁ-‘
ﬁﬁm%mga@;%i
ﬁﬂﬁa‘%ﬁmqawﬁmwgﬁmgﬁ:

L{'B]/'%m%a‘ﬁr

(A) TTHET
(C) =& (D) 37w
(E) FFaRaas <}
[ a3

Which of the following is {Tht tallest breed of
sheep in India? f:::
Choose the most appropriaé;answer from the
options given below: -
(A) Nilgin (B) Nellore
(C) Deccani () ;g;ikaulcri
(E)  Question nol attempled-,
mnﬂfaannanauwstﬁ*aﬁuﬁmm
v 27
ﬁnﬁf@#f&rﬁﬁﬂamﬂﬁmmﬁtg’t
(A) Frafmh i) Caen
(C) ZaFAl (D)
(E) Haftaud

—

L

\'?’-

e difference between principal and simple
interest for 5 years at a rate of 6% per annum is
T 3500, then the pringipalis:

(o TR =2 #6027 9 S AT T ger ST AT

SIS T AT T 1500 ®, A fonr 2

ML;_\} T 4500 By T 6000
(4000 (y T 5000
{15y Question not attempted / J-'Fﬁf'"‘l u
5]
I %nl' r.}- %nr ¥ ; %—nl‘:. !ll-c-n XiPrzis
?i'ratiﬁ'l%;'-—1Tr4—"' g.;‘T.r'_'.'::'F'-
(A) 161508 (B), 5:4:3
(€5 6:12:20 (D) 18:16:15
(E)  Question not nltempted ﬂﬂf"? e

O/ A man buys an article at apnc:e 20 less than it

marked price and sells it at a price 20% more than
its marked price. His profit perce.mac-:: is:

o e ot g =1 offeha e 7 207 F9
QU AT & S ST e § 20% WAE T T
& 3T B) IEF A H srﬁrm-g

3 J

(A) 50% JBY 40%

(C) 45% (D) 35%

(E)  Question not :Hlf.:r[;pted f 343_'6':1:3 e
-

y,l(/ Which of the lDlID‘lHI‘lﬂ National Highwayvs

passes through anaﬂthan

(A) National Highwayio - 73
(B) National l[iglu\'aiﬁfn - 83
(C)  National Highwayno - 11
(D) National Highway no - 20
() Question not attempred

.ﬁ

faefafaa o & Ei\’fq-HTMT[F-;'TII\. AC RVE L RR e e
FIT AT &2

s

JdA)  udr e ol .m
(13) Tlffmmﬂfmﬂhn
(Cy T s e -
() s gsmnd e - 40
() srgeit wa

| Contd...




127 Palash forest is a sub-tvpe of which of the
% L
following forests in Rajasthan? :
Choose the most appropriate answer from the

options given below:

(A Tropical thom forests

(R Tropical dev deciduous Torests
(C1 Sub-tropical mountaims forests
(DY Mangrove foresis

(kY
TR 2 9EE & 59 Pafafan g @ e
TF ST TER

Y (awed § | Tatfiras ug 39 T
-3 3

Question not attempted

(A)  IOTFfeauE #4059

(B) :*cm"&'aur:j'awvma‘-r
(D) TEE=

(E)  33990Ha ¥

P

Which of the following statements is correct
about Salar forests in Rajasthan?
Choose the mesr appropriare answer from the

options given below:

{A)  Pine is the chief tree of these forests.

(B) These forests are found in only the plain
areas.

{C) Its wood is used for making packing boxes.

(D) Ttis found in Jaisalmer, Jodhpur regions ol
Rajasthan.

{E}  Question not attempled

fr=fafaa § 8 FH-51 F47 T F G 341 &

Eird-kraig!

Forefefaa faaed § & AAffue I9gw 37T

(A) T 7 1 %1 99E g4 2

(B) T FAw Azl &1 8 91 S 8
fm s
2

(E) A7 94

JKL-Z10] = 4

"

15

Whao is the Science and Technology Minister af
State (independent charge) in Rajasthan (as on

September, 2024)?

hoose the most appropriate answer {rom the

oplions given helow:

(A1 Kal Raj Mishra
(B)  Bhupendra Yadav
{C) Sanjay Sharma

(D) Bhajan Lal Sharma

(1) Question not attempted

AT 1 fasr i AR T S (P I
w13 (faae, 2024 ) 27

et £ & AT 39 37 4

UKy wa T fag

® T ooy
© wmam Taravafad
(E) #dfa gy

Shri Janki Lal Bhand, the famous Rajasthani who
was given ‘Padma Shri® Award in 2024 is an
artist of

Chﬁose the most appropriate answer from the
options given below:

(A) Ghoomar folk dance

(B} Pottery Art

(C) Painting

(D) Bahrupiva Arnt

(E)  Question not attempted

TSR % oft ST W wig fo 2004 & oy e
e eERa T Seemend)
Frrferftan et 0 wratfires s a0
(A) YU T
+ (B) ‘fﬁﬂ(ﬂﬁlﬁ}m

() Femewen (¥fem)

() =rEfyar Fe

(F)  rgaf@ gy

[ Contd...



NU hich of the following departments has imposed N'I/'I'\-.-n articles are sold at the same price. On one

4 ban on the manulhctre, import, stocking, sale article the shopkeeper gained 153% and on second
andd use of plastic carry bags in Rajasthan'! article he lost 15%. What was his overull
Choose the maest appropriate answer from the pereentage gain or loss?

aplions given below: (A 2'—1 % logs

(A1 Information and public relations .
(13)  No prolit no loss

department :

. . . . ) = % gai

() Rajasthan State Pollution Control Board ( g ‘o gain

. |
() Fducation department (D) 5% loss

{D)  Tourism department {15y Question not attempted

(111 Question not attempled 1 @ GO qeF @ A s #) oeel =
frfafaa 7§ wewam 4 fFa faam 3 e THRTARIL | 5% AT TTH 57T & A1 Zh0 a= 715 %
afert & fmto, s, s, e s 3w @ wfer 3T &1 ET v ey 1 F widerd = 2
nferara = fem (A) 2'30,1.?.1‘%{ _ur;’/qmu_q-m‘w
Freferfram e @ wratfires 9gw 37 4H: (© 25%EM (D) %A

(A) TR Ud AR [H (F) st ad s

_,4[1'; mmmngﬂwfmwm W 5‘}-
() fame faam }9'/ 1f 8k = ?,'ff,f_}"i"] 8y~ =0, then the ratio x : v is:
T 8x2 — 24xy + 182 =0, A x - y I S TA &

(D) e faam
(E) @i 4 (A) 9:4 By 2:3
Cy 3:2 (D) 4:9

V/ = : : . . (E) Question not attempted | A 95

37 Which of the following villages of Rajasthan is =

winner of the “Best Tourism Villages |-200  The ratio of present ages of *'and 'v'is3: 2. Six
Competition-2024" in  the category of years ago the ratio of their ages was 3 : 3. The
‘Community Based Tourism® by the Ministry of sum of their present ages is:

" 3T 'y Y TARE ST FTSFIE 3 : 2 BT W
O I AT T NG S : 3 AT TR TARH 37
FTATTE:

(A) 72 By 50

oY~ 55 (D) 60

(E)  Question not attempied / 3TTATT T3

Tourism Government of India?

Choose the most appropriate answer from the
aptions given below:

iA)  Ranakpur (B) Deomali

(C) Kuchaman (D) Kumbhalgarh

{I)  Cuestion not attempted

raear 1 frefefaa J @ I | I W _.Jf/ Ir ]? of v= % of v, then by what percentage v s
F Tz yAreEy 37 CHHEE anaifrd gz’ 6 Avfi more than v?

§ arding wiiz vita ufeanfTa1-2024° @ fair €7 aRxa Loy @ @y F R ai
Frtfefiaa et 1 1 wAiferds Jugw <61 T4 by ’

M TU[RT (13)  Zavredl S (A) 25% By 10%

(C) Eﬁll‘gﬂ (D) FPerg (€)_ 20% D) 15%

o
() Question not atempted / At 9

(E) =atrd 94

IKL-710] = 5 [ Contd...




C—;Uruk{tgﬂ Talanagah

22 Which of the following dam projects [ESLL
sitwated in Rajasthan? )
Choose the maost approgriate answer from the
options given below: . .
(A Damaodar YValley I‘r;\licc[
1y Rudhemkh Dam 'I‘1'dj'u-i‘1
(Y Mea Dam Project
(Y Jawai Dam Project ;
(EY  Question not nucmmeld
W‘-:i%ﬁﬂﬂ' §F Fad afw qftEsT e
& Tt & r- I
Frerfesfian farredt 3 & warffifes 3z 3w i
(A) FTEIE AT trﬁ“ﬁa'-n“ :
(B) {Hwm@ =1y wiwiemr
© Emato e
(D) =&t &ty wfEeEr )
(E) saf@ws ::11
o
|-i 1

Where 1s Panchana dam situated in Rajasthan?

Choose the mest appropriare answer from the
-y

options given below; =g
(A) Sikar 5
(B) Bikaner -’.";

o

(C) Karauh Ta)
(D) Kot <
(E)  Question nol Jltempttd
o Aty e | ar*ﬁﬁ-mm ’*v
famferfrs faarerdi & @ waffiar g s g
(A) HraEr N
Ay i

() wE €A

(D)

(E)  srqwfra g

JKL-Z10] =

]

24"
W

“Hamel™ is an ornament worn by the Rajasthani

women around/on :
Choose the mast apprepriate answer from the

aptions given helow:

Ay Neck (By  Head
(C'y  Ankles () Waist
(IF)  Cuestion not aftempted

e e e e AT
‘TU"TTT_':”W!I

Prperii T % wiforw FTaw T T4
I:} U] m) far
(C) T@EA (D) AT

w9

E) '.
L/From which "Apabi'rm'rnfm" language, did the

Rajasthani language nat'evolve?
Choose the maost apprnprmle" answer from the

options given below:

(A) Magadhi Apnbhramsa
(B) Shaurseni Apabhramsa
(C) Nagar Apabhramsa

(D) Marugujari ..t\p'glﬁl:'tramsa
(E)  Question not al-.:T._elt:nptcd

TR e =R e e i a5 56

Uk
fFrfafas fraedt 3 & aaifas sogw 35 73

(A) T i iaa T s
(C) AT (D) AT TS ATET
(B S

(] -'-;
The poetic text which describes the greatness of a
king, his conquests, wars and valour is called:
Choose the most appropriate answer from the

options given below: g

(A} DPrakas By Vel
(Cy Vigm c \SD} Raso
(E)  Question not ;I'Ettilllpttd

ar w17 17, S ferfhan i aerr ITh fimm,
@ S e zh ol e R, e .
ﬁﬂlﬁﬁﬂﬂﬁﬁr‘@fﬂﬁmﬁi}mmmﬁ

(A)Y  TRTH :{n\ %Fﬁ
©)  for (D) T
() argafer g

| Contd..,




37°  The singing of Rasia accompanicd by the playing |~29 In which year was the Jaipur Praja Mandal
V5

formed?

L of Wapada is associated with  which type of

dance?

Choose the maest appropriate answer (o the
options wiven below:

(A)  Bampasia Danee

() Ghoomar Dance

(C) Kalbeliva Dance

(DY Terahtali Dance

(£ Question not attempted JU/
TS & wre et e faew ger | Hafaa
frefafias fawel § & waiffas sugw ST

(AT FatiEar 39

(B) TWIE

(C) FTeafear 37
(D) Eare I
(E)  S¥¥itd 94

Name the first Chief Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the
options given below:
{A) Mohanlal Sukhadia
{B) Bhairon Singh Shekhawat
{C) Hira Lal Shastn
(D)  Jai Narayan Vyas
(E)  Question not attempted
H qeg TR 93 @ 9Ee JEn @ A
FATET)
fafafiaa fasedl § @ aaffid Iags 3CTH:
(A) WHieera garean '
(B) 1 fege yramad
e e 2
(D) =9 9y =419

(E) Hqafta 94

JKL-Z10] =

Choose the maost apprapriafe answer from the
options given below:

ferer aavd 3 semqr o et R A g

A= fav e famredi 6 & 7as guges 79 =9

(A) 1934 \ﬂﬂ/ 1931

(Cy 1932 (D) 1933

(E}  Question not attempted / dFﬁfT_'l o

Where is the ICAR National Research Centre on
Camel located in India?

Choose the most appropriate answer from the
options given below:

(A) Dungarpur (B) Jaipur

(Cy Bikaner (D) Jodhpur

(E) Question not attempted

W § TS H1 T ST H UL S22 ATHIH 52 Fl
o fear &7 _

frafafas e | & waiffas sogw 39 =5

(A) $ME (B) AW
&5 (D) ST
(E) arfafta wy

-E!/ Which of the following is not a crossbreed cattle

strain?
Choose the maost appropriate answer from the
options given below:

(A)  Frieswul (B
(C)  Karan Swiss (1)

Sunandini

Rathi Gir

(E)  Question not anempied
Frefafea o & S wdeh & gwcawa @
Freiferfira faeresi 3 @ wrarfires Fages 3w
(A rwars ml/ gAfeft

() w@fw 0) udfin

()  Irafw vy

| Contd...



2 Which o the Tollowing is known as the milk ety
ol India?

- g " "
Choose the most appropriate answer Trom the

options given below: (.

(AY  Gandhinapar

(13 Anand

() Asansol

(13} Dureapur r-§

() S T ) iy
: Question not attempied

fi’ti%ﬁﬁﬁi!ﬁﬁftﬂﬁﬁlﬁ{figﬁ:ﬁﬂﬁﬁﬁﬁ@&

FEI ST &7 (o]
™,
ﬁmﬁ?&iﬁﬁﬁmqﬁ {17 Wgﬁ;ma::[
(A) T o
(B e
. \;‘;E
(1 gEEe -
(D)  TiE o
o O
(E) Al wa o
Y
L)

To see an enlarged imageqof the teeth, dentists

usc-

oh
Choose the most appropriate answer [rom the
<

options given below: (5

Ml

(A) Kaleidoscope L

Y

(B)  Plane mirror o

- g LY

C Convex mirror
(C) o
(D) Concave mirror

(E)  Question not atlen ‘gted

mmmﬁhnﬁﬁa%@gﬁmw#mw
T fepa e 2- -~
Ermfafiaa ﬁmiﬁﬁna%?ﬁ?mmﬁﬁ

gae g0 5

M B

(B)

(C) I G

(D) sraae 2

(B) i 94
JKL-Z10] =

With reference to the reflection of light, which o

the following stalements are correct?

4. The light ray which strikes any surface, i
L b ! A
4

called the incident v,

S b

b, The incident ray and the reflected rav. bah
are perpendicular 1o each other.

c.  Theangle of incidence is always equal to the

angle of retlection,

. The angle between, the normal and meident
rav is called the angle of reflection.
= o
£l

sh A
(ne

Choose the mest appropriate answer iram

:_,ﬁ Groyv Hw{

options given below:

{(A) aandconly

(B) a.banddonly

(€©) b.canddonly & K HWC%—
(D) canddonly '" b

(E)  Question not mf-f;p:-.-d

mawmmq fETasE-o ATy

2

J/mﬁmmmmmr—m =
mﬁlﬁmmé

b, mafaa fRor q;rﬁfﬁ-aﬁ—'m T O A
dEaq At dl (O

/Wmmmw¢wmm?

| Contd...
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36

When hehe Gills on a shiny SR it direetion i pNE Wihneh Damns twmple ol Rajasthan became
changed, This s called of Tl
Chovse the mrosr APPEOPETIG s ey ot the representatine of the “Havel™ form of temple
options given below: archutesture !
LAY sealtering Y wetlectiom )
WY relvaction UM dispersion Uhowse the Nt approprinte answer from the
II
(1 Qoestion odt hnempred sptens prven balow
1& Il SHE QAT 9NN AT S 08 w3 -
azm shafda o) ~ﬂr1’r| | 38 st A (4D Templeol Parsvanah
A i \"thn‘.-l..t E: templ
i L C
qT‘i‘ﬁsE‘lTifW‘Lﬂﬁﬁfﬁ}EmW]}I N
(A TE LY ) SRR (%) I'll.xh!s.l.i_ﬂmplc
WY OFTEET Oy gy faanrstny 4 e
(Y sEaEia s [ { (D) Temple of Nitkanth Mahades
i . 3 . (158 {;luu.\l't-.mnni.mcmmcd
Whe was the founder of the Jat principality of ) ()
Bharatpur, o TSEAT FT 1 92 5f=, af= == &
Choose the most' upprﬂprra‘h‘ answer from the ?aﬁrma'r'gﬁn"ﬁq T
Oplions given be lq ': N Lo I 3
iﬁqi;?i'l!ﬁﬂ "c‘FEI{T = a7t 3 Ss
tA)  Badan Sm_uh ! (B} Churaman i il 3
(€} RajaRam "~ (D) Surajmal (A ma:iw';,rr;mt
(EY  Question not aucmplcd lv‘m/“ TR ;‘-‘E"‘ _
AR E mfqu-n'a"nnmaraﬁ'—rw ~
= few ﬁmqqmﬁmmmi (©)  geEER
(A) =E=fEe f:.uﬂ/ﬂﬂm (D) HeEs meET 7o
N o
(Cy M Y (D) =EEE N
N = (E)  STefEyy
(E)  Smitd 94, 9 o
9
£ - 1 g e 1ee s oyl -
Woman saint mj‘lg_"”‘ﬂhadb“p]" of ~39 Mendel  performed  his  evperimenms of
Choose the maost appropriate answer from the g s
: ; : hybridization ol
uptions given beluw: : et
{A)  Saint Ram D;'is Choose the most appropriure answer from the
() Saint Ram Lhurdll OpLoNs wiven below:
[
. ; N
(C)  Saint N'rht}*‘ll-"ml'“” (A} Sweet pea (B Albino mice
y I }l [ .
(D) Saint ChargnDas (©) Drosophf (D) Sunflower
(l:) f)uutlun nut ultunp:r.d -
e = 71 foren « () Question not attempred
=it Fﬁ?—m i it wraffira 3o 30 T BEC RS iy % WA T gt g e
(A) | EmE ﬁ:—'{ﬁﬁiﬂ iﬁmmf;mﬁ“ﬁqm EEicH
(13) Hamm o (AT wzummm TR
(€) “ﬂﬁmﬂ () e‘nnfm (D) wEEl
(D) Ha wroy 2
. 1) st
JET srefa wal I m
i L 9 o | Contd...
KL-z1o] = o




b

Which ol the Tallowing ore the dominant troits for
seeds ol pavden pea plinns?
Cloose the smese apprapefate ansowver from the

oplions piven bhelow:

(A Yellow and weindded
13y Gireen aml wrinkled
(O Yellow amd roumd

(I3 Green and roumd

(15 Question not attempied

Frafafas § @ a8 ards e 3 ol 3 st o
feru ot Fam 9
ﬁqﬁﬁﬁﬁﬁﬁlﬁwﬂmmﬁmgﬁ:

(A)  dten 39 wffen

(B) 7 sk ghan Grorv \QULE
(C) rem 3 Tire e

(7 T s e Lq}—q“@{%
(E) #afawa |

Which of the following is not a law of inheritance?
Choose the mast appropriate answer from the

options given below:

{(A) Law of Dominance
(B) Law of Segregation
(C) Law of Independent Assortment
(12) Law of Dwarfness
(E)  Question not atternpled
fr=fafaa # & Fr-m srgaitd 71 fra o &
Freefenfian faaredl & @ wratfers Tmgw a0 i
(A)  oarfaer & fram
(B) gaFEm F Fam
(D) g @1 fram
(E) afaad
JKL-Z10 | =

10

rd
N

uﬂ/ Where is the Mchrangarh fort situated

Match List-1 with List-11

(LT | List=11
('T'rnlt A) (Contrasting
trait of Tralt A)

. Axial pasition L Yellow
ol Hower

b, White colour 1. Terminal
af Mower

¢, Green colour of seed 1. Round

d. Wrinkled shape Iv. Violet

ol seed
eAt-1 % g gef 11w fyerm ifaro.
Tl Te-11
(Faryraar A) (Froraar A
 faafra fasraem)

a. Fﬁﬂmf?ﬂﬁ 1. T
b. qU4 %1 Wk a7 . sfaeg
c. dTHEIO 1. e
d. fMw g aFr (v, #Hrf

Choose the most appropriate answer from the

options given below:
ﬁﬁqmﬁaﬁﬁ%ﬁmmmaﬁ
W) a-lLb-Lc-IV.d-1I

(B) a-ILb-Lec-II,d-1Vv
(C) a-ILb-MLc-IV,d-1
(DY a-ILb-1V,c-1.d-Il1
(E)  Question not attempted / HTATTT T2y

n
Rajasthan?
Choose the most appropriate answer from the

oplions given below:

(A) Jhalawar (BY  Jodhpur
(C)  Joisalmer (D) Jalore
(E)  Question not attempted

TSeT 3 AETg forer et e 29
Frefafia foredt 3 & waffires svgm 3o,
@ s ) sww
(C) Steemy (B) ek

(E) et wa

| Contd..,




T Ihe Bumargzande Boan vs sptuetend e ow ey ity
[apasthan?
howse the st appraprdore aaver T Hie
VoS e [ AT
AT Thakane b T
i vt il P
i Choaestion vl lempied
TR R B TR R R Al e v by
Fpralatena Braen W am e T W
iAY  #an NIRRT
WA (I wapi

(el

4 Mention the dang o whieh the Poncely Stale ol
Bikaner formally wlesrated into the Ulnited Seare
of Rapasthan?

Chovse the mose appropriare answer from the
aphions given below}

(AT ST ARG 098 (13 7 April 1949

(Y R A 1‘1'-1t1' (Y 7N April 1948

() Question not attempted

34 fafu = e difeu sm e il s
sttt =0 | u‘gﬁ wsteat wae i wfmfer
ar!
ﬁnﬁﬁaaﬁamﬁumfﬁwmw—ﬁ
(A) 8 30H 1945 (13) 7 3% 1949
.m‘/~ SAF 1940, (D) 7 9% 1948

() =eiE v

Adr rushes into the lungs of i human being during
Choose the mrn'r"’ﬂfmmprfun' answer from the
aptions given hl.luw

(A)  Neither |I‘L}t.'l|.llmn nor exhalation

(1) Inhalation

() I-thrzf:niuur',l .

(1)  Huoh :'nhqu.l!'wi and exhalation

(k) Question not JIIUnIpIu

v @ dany gl At
freferfian fawedt i waffo agm sa0 g,
(A) _Adl i qua s 1 ¢ afigaa
ui) s

(C)  afieym 1.

(D) A i mm gm ufie

(t) ﬂaﬂf&rw.;,

KL-z10)] = T

A7

Lih

Ml 0oasr Ut 1ot

Iolst 0 (UM s s ) FoAse-10 (8 wisnl vrpgnnlsm)
1] Clhicben pos I rontorsing

e Pyl I g

N Mlaliiia I, Y

il |4u||'\'.nllnl| IV M e

R R T T (S TR A O TR A

el iy el g fen
a0 IR
b O 0 e

e maber U e g e,

do o wa il v e (At
Ul the smoat appropriate answer from the
AP cn:h!-;,luu

9 fn nw faegent it 01 arerffaras TG Fe1
(A) = IV, gt e 0L d -
MY - LBV, e Lo = 0

L& TN AVAN o [T | T

(- 0L RL e v

() OQuestion not attempted -sl-i]r'lfr'rr T4

Seleet the |1lnl"r|llf‘lft11-' which are not caused throueh
polythene, L
i Catse ["’f‘l\]f e drainage svstem
b, Cause of depth of cattle
e Cnuse diseages like asthina and jaundice
do Allow thd frhin water to be absorbed in the
.\'\ll:a L
e Danger o fertility of soil
Choose the MmNt uppropricte answere rom the
oplions given .I_ilz:._lnw:
(A aceandewonly (1) o dand ¢ only
() band dogly (DY cuand d only
(B Questivithol attempted
EERIUTSIRN BB B R DR et Py
T LY | I i.i'-llﬁ‘:ﬂ'l‘i” E AR
R E R Tt
v Sreumn e @ A an e
who anl st T aragiae @)
furd) < 3k e aa
“‘} &k‘ikﬁ«l‘tﬂ 8 waffies sugin 3at @
(A) ey, H;»m ¢ () daE g, d e
) el hrbﬂll Jd oy FEre oy
(19 skl py

*
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GroroNu] Terarga)

T which citv of Rajasthan is the “Desert Festival
held every vear?!
Choose the mese appropriote answer Trome the

options given belew:

1A Pokhran (1 Jedhpue
(0 Jmsalmee Dy Barmer
(B Question not attempied

TEens F few o § wfed oo geeme
st frm s i

fr=foifian fawedt & & waffias suges ant 34
(A SrEwE () Gﬁu'g{
GWel Smemn (D) =TT

(E) TIaRa 95

\F( Which Rajasthan city plays host to the Camel

Festival every vear?
Choose the most appropriate answer from the

options given below:

(A)  Jaisalmer (B)  Jhunjhunu
{(C)  Sikar (D) Bikaner
(E)  Queston not atternpted

TESE T FIE-HT TeT Wiaad I Were|d @
r=fatas fawedl § 4 Faifas sugm I T4

(A) FEEET (B) ##T
(C)  HEE B T
(E) sdiE g

51”7 What is the predominant material used for men's

clothing in Rajasthan, since times immemorial?
Choose the most appropriate answer from the

options given below:

(A) Silk {13} Colon
(C) Polyester (D) Terricot
(l5}  Question not attempled

TrarEaTA 1 WT A AR g i & fer e e
&1 TR T H AT A 7

frsfafaa faw=n 4 @ gaffas Jogw 370 T4
+m’/r.17{|

(A) foe=
(C) difemeT (n) e
(E) #igafta 94

11

12

e

&

Annerohic bacterian digests animal waste and
produces biopas (change-A). The biogas is then
burnt  as luel  fehange-13).  The  following
statements pertain (o these chanpes,

Choose the most appropriate answer from the
aptiong given helog:

a chemical

{(A)  None of these processes 15
change.

{13} DProcess-Ais chemical change.

(€} Process-Bis chemical change.

(D) Both process A and. [oarc chermical
changes.

{15y Question nol attempled

Te A # (afd Ay A 1 $E F =
3 srerr st & (afrrds B frer A 77 afEAaT A
et

Pt fapedi @ @ waifiss 792w 707 44

(A) T8 ¥ FE ot vy wF mEmEiaE TiEes
Tt 21

(B) UTEFAT-A UF THAEF uftadT 2

(C) uEFAT-B U TETEE 9iEEa 2

4B7" ufE A sin B FMT mETtE aivds #)

(E) oFwie o2

Which of the following statements are correct?

a. Physical changes are reversible and stable.

b.  Chemical changes are irreversible and stable.

Physical changes are reversible and unstable,

d. Chemical and
unstahle.

changes are  icreversible

Choose the most appropriate answer from the
options given below:

(A) aanddonly (B) aandbonly
(C) bandconly (D) c¢anddonly
(E)  Question not attempted

Frreferftae ¥ & Y. s wrdh

. !ﬁfﬁﬂ?qﬂﬂﬁqiﬁ!ﬁmﬂﬂ&ﬂtﬁw{gﬁg!

b, mﬁmqﬂaﬁqﬁt.aﬁmvfm&ﬁtﬁmaﬁa
c. e afterdT Serofte s arfier o 2
d. Uﬂmﬁiﬁqﬁaﬁqh-mwﬁqammmg!
A1 faw o et & & wraffoe -
(A) et gty
(C) _ & b 3 ¢

o T e

(D)  FFec 3t g

| Contd...
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This nen-mctal s a good conductor of electrivity-

54
Cheose the most approprinre answer from the
optons given below:

(A Graphiwe
(B Bromame
(O Sulphuy
(M Coal
(Y Questiion not attemplod
% T faem w5 RIGER
Fafeiad st § & watfow svaw saosn
AT iz
(BY  HIER
O HEET
(I Fi 5]
(E) 3799 wsy
-
-

The metals thar produce a sound upon striking a
hard surface are said to be
Choose the most appropriate answer from the

options given below:

(A)  Lustrous

{B1  Malleable

(C) Sonorous

(D) Ductile

(E)  Question not anempted

?mmﬁvﬁﬁ?wwmﬁmﬁmm
ﬁmﬁf@ﬁﬁaﬂ?ﬁﬁnﬁfwmmﬁﬁ:

(A) =mFm
(B) wTqmas]
] enfr
(D) a7

(E)  smf@ gy

KL.z10) e

B

Which ol the following physiographic leatures js
ot tound in Ragasthan?
Choose the wmast appropriate answer {rom the

options given below:

(AY Hadoti Pladenus

(1) Aravali Mountains

¢y Thar Desen

(1 Coromandel coast

() Question not attempted

Frfafaa o wtawf s smpfa weram § =7 o
AT 27

fr=fafae fasmeai o o weiferd Tuge e 4
(A) TR =E

(B)  =FOae ydg
(C) o AFEget
,;.m"'zﬁrfmvaa e
(E) ¥afa uo

G/Ailuviul soil is found in which of the following

regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  Western and southern part of Rajasthan
(B)  Northern and eastern part of Rajasthan
(C)  Northern and western part of Rajasthan
(D)  Eastern and western part of Rajasthan
(E)  Question not attempted

mwmm#ﬁnﬁﬁﬁm&hﬁww
2

' ﬁml%-rﬁaaﬁa;ﬁﬁﬁnaﬁi‘mng?ﬁmﬂﬁ-

(A) TrsreaTs =1 gt sfr afiof v
(B)  USTRTT o 3ot sile et s
(©) TS w1 39 it afendt wim
A5 TS el ST et sy
(1) srEfaws
13 | Contd...
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~5§/Ghuuuhnr plain is a sub region of which of the

following physiographic divisions of Rajasthan?
Choose the most appropriate answer (tom the

options given below:

(AY  Easternplains region

(B Western desert plam region
(T Aravalli fegion

(DY Semi-anid dey region

() C,‘luc.c!in_l'n_':;nl attempted

T 7 AaE T F e it fnas @

TF IR

Frferfian fasgt # & watfires sugm s Ti:
AT T A A

(B) wf‘ﬂ'n"mw‘eﬂuﬂm:n:q—q-
(C) adt ey

(D) 3R 8

(E) :maﬁ?rtm

1R

Devendra .I'hnjiian'a who was elected as President,
Paralympic Commlttee of India for 2024-28 is
related to the spm‘t of:

Choose the ma.st appropriate answer f'rum the
options given be'lmw.

(A) Long Ju_mp (B)  Discus Throw
(C) Javelin Thwrow (D) High Jump
(E) Questmn fiot attempted

TR F et # 2024-28 0 wfify % oo
=2z Fraf fFr aa d g

Fr=fafiaa fasedi & & aaffire 39gw 390 94
(A) @Efizry M fema

(C) WEnFa. <Py SN

(E) 33!’3?[17@‘!'

-60/H0“ many z.e.m‘.\erc won by the leading political

party in Rﬂjd&{_l?ﬂﬂ Assembly elections held in
20237 o

Choose the maost approprinte answer from the
options given below.

2023 A T e g # smoft veeifar
Zd 310 faeeh #7é st ey
ﬁmfaﬁaahﬁﬁﬂmﬁ‘mmm%ﬁ
(A) 135 ~ (B) 129
(C©) 108 1y )
(E)  Question nat attempted / sTgafe uy

—t

13

14

AT vET

ll’}l/"‘"u'h::ﬂ was Maharana Pratap crowned as king?

Choose the most appropriate answer from the

options given helow:

(A)y 28" February 1575
(1) 28" February 1572
(Cy 28" I-r.hrtnry 1573
(D) 28" l'l.'nru ary 1574

() Om.:_,lmn not attempted
TR AT A1 3 5 6 Ty o Hret?
Erferfan faweTt 9 9 waffis 39gw 77 15

(A) 28 Ef 1575

(3) 28 rr:aﬁ 1572

(e7 28 mﬁ 1573

(D) zaqi;'afr 1574

(E) Gﬂﬂﬁﬁﬂ'ﬂ'
"i

J;Z/ Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the
! R
options giver below:

(A) Bhawai (B) Dashavtar
(C) Jatrd™ (D) Swang
(E) Quc%tif}m not attempted

m%m%mmmmﬂc{!
ﬁmﬁ%ﬁﬁﬁﬁﬁwﬁwwmiﬁz

(B) <¥mganr
(C) wmar=d (D) =i
==
(E) 3¥ftg wa

s

63/' In how niany main groups has Dr. Grierson

divided theﬁlfud:[h'\m dialects?

Choose thé.most appropriate answer from the
oplions given below:

<. it e e A e gow g
ﬁmﬁaﬁﬁ% =
ﬂ%&qw%wﬁﬁﬁwa#mmaﬁa
,(AKS ': 4 (B) 2

(E)  Question not attempted / AT 99

| Contd...



; od I'he oxyveenated bload 15 manspoited trom heary i Which of the nq[nnim: tolk dance forms 15 vore
[ VNGRS orzans of oy Py through- Popular in the Uy, ApUr Tecion of R aasthan?
Chovse the prosg apprepriane answer from the Chiovose the mOsST appropriage ans=wer from (he
opiions zven below UPRons wiven bwelow
AV Lymph (A Dhal Dance By Bamrasiy
LN Mileres (Y Kalbelhiva U By,

(W Vems BV Question not attempted
N Both anteries and veins manmTg X IZAT AT 3 sV my I= whirs
(Y Lhiestion DAL attempied '-:rﬁl;.' ?:‘ .. -
SRR $0 gey @ T fafirsy ainy & i frfafioa Frv=at & &t gaifirs ITTH T s
“~1 ST ST 2 (A e ge (B)  Forfasy
Sefags ﬁﬁ—mr{wwﬁm‘mdm REl (€ wEfem by
(A ﬁm:‘cwr* (E)  wqafa as
(B) 9HETT
(O IR I_b';"" Name the Saka K::h.u.'-.lp.l:a who controlled
APrTURET Sk Rt 9t popular tounist destinagions of Pushlar?
(F) :-;E[ﬁﬁ;—; TS Choose the mast appropriate answer from the

i options given below:

®5  Which of the following are the parts of human (A) Rudra Simha II(B)  Rudma. rman |
male reproductive system? (€Y Yashodaman 1 (DY Nzhapans
& Uterus AE)  Question not antempted
b. Urethra S NIE §9 H AW T e T S S

¢ Prostate gland Wﬂ!f{ﬂlﬁ_}ﬁﬂﬁﬁﬁ?“
d. Fallopian tubes ﬁ%ﬁﬁaﬁwﬁﬁ%m&am—v

¢. Vas deferens m R () ww=me
Choose the most appropriate answer from the tm‘!am:rz (D) SwEwET

Options given below: V(E} aﬂﬁf&[ﬁ‘i’

{A) buandeonly (B) a,bande e only

(C) a,canddenly (D) b,cande only L68  Raojasthan  E-waste hanagement  poliey  was
(£} Question not attempied formed and invoked in Rajasthan in the vear
FETETTA | & -8 W T TS 69 a6

O i Choose the maosr appropriate answer from the
b, .:'.mm (tfl‘s'ﬂj Options given below:
¢ gz ufy TSR Ny v A s s 3 o
d. fegarfean o a d fvrmn)

3 i ~ Pt s 3t @ wifires sogm sac
T4 fau mu fammdl i 4 waifue 3oy 3 q T

= " - Wy
(A) @FAtbae 3y _Faca, bafte (A) 2024 B 2021
. e I A\ k]
(C) Facta, ¢ s day] Factb, e 3ite () 202 (B 202

(E) Wﬁﬂgﬁ ' (1) Question not attempted dqafd vy

KL. 710 e 1S | Contd...

14



Fhe difference Detween compound interest il

OO
simple inlerest an i eeriin sum ol money lor 2
vears ol 4% interest per anmum is T 40, then the
s ol INeney is;
v Rfira vanf ag ae, i =na o) aed o and
a1 AR A 2R S T 40| n
ar v &
c"\
A 18000 1 T 20,000
{ ‘-\Q AN (3
(Y oy 25,000 (M T 15000
N .
E uestion not attempted / Jﬁﬂﬂ'ﬂ uL
Ly
c2
20 A certain amount of money becomes thrice in §

vearsS il compound interest at a rate of 12% per
']
annum, In how many years it will become 9 times
of iself?
[ g R
(A % Years
N
(o

(B)
(D)

15 Years
i Years 10 Years

(E) IQiucs:ti(m not nttcmpicd
rﬁf&mmﬁr!?%wﬁaﬁmﬁtmﬁaﬁ
5 -mgmwnﬂﬁw%iﬂﬁ;ﬂ%aﬂﬂma%
T R
.t;sd’ﬂs ad

(C) .*J" EL]

() f_ﬁﬁf(ﬁ 5

15 a4
103

(B)
(D)

If the simple interest for 12 years be equal to 60%
of 1hgunnupal then in how many years will the
slmpébmh.rn.:.l will be equal 1o the principal?
(B)
()
(L) u(;)ur::.tmn not attempted

afz (34l a1 ATV ST IEF AU H 60% R,
At fars i & o @, genA & SO R

(A) OAK years 20 years

(C) 044 yeirs 22 years

AT _
(A) ‘i’umi uBy 20
(C) r‘\&daﬁ (D) 22@d

(E) Corgafa wy
(N

JKL-Z10y =
-

7277 Which vity of Rajasthan was nominated (as on
September, 20203 for Wetlnnd City Acereditation
(WCAY

Chiovse the moxt appropreionte answer Trom the

option piven helow:

(AY  Inisanbimer (Y Jaipur

. oy i
(€ by : ."”” ‘ Uidaipur
1y Omiestion 11t1l'nll)c||1prr:rl

fopiferfera 11 O e sy Ay o et fd
ufefederr (wea) Batnfin (frem 2024 75 %
apure) fas o E{ !

fFr=fefian Rreredl ﬂ}w-aﬁhmm FA7T T
(A)  Sherie sy S

(C)  Snage D) I

() oy

.
. - T
v, In which year did ]E{‘Iu s Prime Minister launc
3 services?
the 5G services? ) .
Choose the most agpropriate answer from the

options given belowi=

(A) 2022 (B) 2019

(C) 2020 <oy 2021

(E)  Question nutﬁhunplul

m#mﬂﬁ&ﬂaﬁﬁ S5G HaTat T A

m’r’ ,:\1

ﬁnﬁ‘{ﬁa?r forereat HrAmaifires Togw 39T -
LAY 20228 ‘ ﬁ(m 20191

(C) 2020% QD 2001 F

ST W

i
In fnancial year 2D“.'|‘3.
<

()
g1

179 million domestic

tourists and 1.7 :pj ion international tourists

visited Rajasthan, Thegontribution ofthe tourism

seetor to the state GDP is approximately:

Choose the mosr :ﬁ‘}"ruprr'uu- answer from the

oplions given hulm\!’r )

ferm and 2023 ﬂmﬁ‘r-;i}n 9 U TiT] R qur

17 e farRaft wiees e s wiew A e ¥

T T I7TE o ST AT e

fFreferfire feraren ¥ Y waffire sogw sa .
15% ' Qun 8%

() 10% (D) 12%

(L5)

16

Question not@gempted / “ﬂaﬁﬁ o

Ly | Contd...
-
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Fuot '.-L‘l.‘hlll'l‘i__'r_‘, C;J[Ilu_

I8 goat and sheep, which ol the
following is are not used as fodder crop(sy?
a. Maise
b, Legumies
o Collon
Jo Race
e Barley
Choose the mose appropriare I.'ms“'cr' from the
options given below: i
(A} bonly (B) - Sidnd ¢ only
(W banddonly (o t'-nl\
1By Question not attempied g
m:rcm? H o af THA 3 W ¥ o
=1 F FY B w9 ETARE T Gn?ﬂ“_]
1. HE=] i
b, el
T FER
d. 1..?‘.1' Ve
TRt fse=iE gy Haffies sagw 3ot 94
A) FETb (B) l_urf-f a3dTe
(C) =IEb3iRd (D) Fawc
(E)  SF9E us {;_;
{ 'L,
Tﬁ/ Which of the following :.s lrue about CARI-
SONALLY  p
Choose the most apprapria}q’;’ :answer from the
options given below:
iA)  Commercially Brown c;._.b laying chicken
(B)  Dual Purpose Chicken_,
(C)  Commercial Broiler Chicken
(D) Commercially White L;E%' laying chicken
£y Question not atternpled :
fFafafea & @ &0 - e :r:mu SONALL) &
EREESIE b
Fferfiaa famedi & @ waffue sagwm 3w T,
Nu( arfufsua: s siz1 23 are e
HT A e faam
(C)  anfurfsgs gwen faa=,
(D) aforfeua g ster 2 '»:-l"l;.'fl foam
7
(k) srqefa g 0y
JKL-z10) = ol

37

17

16

In how many phases was the clection of the

Rajasthan Legislative Assembly 2023 helg?

Chivose the mose appropriate answer from the

vptions given helow,

marart B i fem T 2073 Fy T &
senfaa fee g

Frferfrra farei & 4 matfirs TULF T o

(A) 03

i

(Cy 02

(Dy 04

(E)}  Question not attempted :.q:ur-ﬁm e

Who among the following has NEVER (as on
September. 2024) been the chief Minister of
Rajasthan?

Choose the meost appropriate answer from the

options given below:.

(A)  Bhairon Singh Shekhawat
(B) Diya Kumari

(C)  Ashok Gehlot

(D) Haridev Joshi

(E)  Question not attempred

f=1 1 & @ it it (e, 2024 FF F IFE
TSREATH <6l el et wr
Frvifitfier faeredt A waffires soges 3ot

(A W fee SramEa
MY faan g

() S e
() wle s

() srfalia wy

L] Contd...
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U;H)" According to the modificd budget 2024-25 of
Rajasthan, how many rural  houscholds  wall
receive  drinking water uander “Jal Jeevan
Mission™?
Choose the maost apprapriote answer fram the
aptions given below
) 27 GquyV R‘JA
iRy 21 Lac
() 15 Lac ﬂm@ q)>./
(I3} 25 Lac

() Question not attempted
T F ofmafda ame 2004225 F STHTT A
ST fom & simta et andio aff a7 w8 v
TR e 8
rfefas fasdig g watfos ugs T 94
el

27ErE
‘ By 21& g
(Cy 155
(D) 25Tm=
(E} FAiaa"
<<
80 Which of the following geographical terms is

associated with the climate of Rajasthan?
Choose the most appropriate answer from the

options given below:

fA) Kaal Vaishakh

(B} Aamra Varsha

(Cy Mavath

{D) Phoolon ki Bouchhar

(E) Question not attempted

fnafafaa § FEA-d e reme weawam &
ey @ WAt &7

frfarfaa famed # @ waffas 3ogem o
(A) FAME

(B) #AR I

.Lr!;./mm:
(D) i AT

- - . 1 'i’\-—
5/.'»1:,41 of the part of Rajasthan state COMEs Unde:
which of the following climate zones?

£ ko
{ hoose the mast ﬂp_prr}prfﬂff answer from the

options given below:

Ay Tundrea chimate vont
(1) Lqguatorial climate zone
(')  Temperate climale Zone
My Palar climate zone

5y  Cestion not attermpled

fafefirs fraeit & 4 Faifus 399F 77 23

(A) Z731 FoAT A

(C) o Serard 4

(D) g FeETg A7

(E) #Iaia 94

LSZ/JWI'Lir:h of the following rivers is not associated
with the Inland drainage system of Rajasthan?

Choose the most appropriate answer from iks
options given below:

(A) Banas (B Kantli

(C) Mantha (D) Kakni

(E)  Question not attempted
fr=fafEs @ 8 Fd 7 o § amne—
TR @5 9 gatad qa1 20

Frafafes faee & & vaifas 39T I S
(A)  wTE _BY weh )

1 (C) (D) =TT

(E) 3wfta w

w857 Which of the following lakes is situated in

Rajasthan?

(A)Y  Lonar lake (B) Nokuchiya lake
(C)  Pichola lake (D) Koleru lake
(E)

Question not attempted
ﬁn%ﬁaaﬁﬂaﬁq-msﬂammﬁha%?
(A) AR s (B) e s
Ut faoten =he (D) a%;}zam
(E)  arqofa uy

(E) SRR T
JKL-Z10] =

18
[ Contd...
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B4 - Mk sucar is called: _,H‘T// From the following physical regaoms of Rajasthan
Choose the mast appropriate answer from the which region shares its boundary with Pakistin®
options given below: Choose the most appropriate ansyaer rom Ve

(A} Sucrose (B)  Maltose options given below:
i Lactose (D) Fructose
1 D_ Ay Western Desernt Plain Resion
(E1  Question not attempted = ¢
e S TR ) (B)  South Eastern l']::lt;au:l_:!:‘_-g'm.'.
Eotstan v 8 § maifus J9g 370 I (C)  Aravalli Begion ge
|3 ¥ f
LA TS (B) T (D) Eastern plain Pegion f
() RE @ " {E) Cuestion not attf.-rr-,':?;_-lt.: :
Sy ETEOATE . ) . : I
) (E 3 AT F A o gt a5 =
.-/ . - o
LS‘S’ .\-TE:Ch L‘:.‘!-I \.Vl[h LIS[—”.‘ aﬁ:‘-_—q-l- m qﬁmﬂ? Frird -;r.q-:z"r ﬁ'_’::‘l' oTEFET
- -.‘-l‘
List-1 i L‘.?.r.;” fafafaa =311 mﬂmm# _-"f—J-=
2 Gujjar Bakarwals 1. M.ahflrﬂshtra Sl -l
b, Gaddi 1. Jammu and Kashmir g T & A
c. Raikas 1. Himachal Pradesh (B) Zamgdiwzmas !
d. Dhangars I'V. Rajathan (C) sATE= =3 2
T F 5 eI e AN (D) TET i A '
==T1-1 aa"f-u i —
: (E)y HAda 94
a. Tal5aAaia L =
b. & 1I. \-11:':1'!
c. TEE 1. ﬁﬁﬁ'ﬁ i Eag) \38/ Which of the following regions doss not receive
d. g5 IV. U9 irrigation water from the Jakham dam project of
boose ¢ ate the . LN
c n?c:, L{le maost appropnare:‘a?swer from Rajasthisn? b
options given below: O g :
Choose the most appropriafe answer itom the

(A) a-MLb-IV,c-Ld-II
(By a-Lb-ILe¢-I,d-1IV

options given below:

(A) Pratapgarh

V&) a-ILb-HlLec-1V.d- L (B) Chinergarh

(D} z-ILb-Lec-1V,d-Il=p (C) Udaipur s

(E)  Question not attempted {ﬁaﬁfm T o il [.,I

86" Maru Raikas senlements are cdiéd: (E) Question notatempad,

Choose the most appmpnare: a';'lswcr from the frfafaa 7 o= 7 -q';n,.m 87 JAES T
options given below: P . P VA ?ﬁll‘iﬁ s,

(A} Basti (B) Igloo Lo A :
(C)  Bhabar (D) Dhandi frefafas fawea 0 & Faifas 39w 3730 75
(E)  Question not attempted I (A) TR

o T F frama w4 Feem b () fadrems

ﬁﬂﬁfi’@aﬁaﬂﬁﬁﬁwﬁw{mﬁmgﬁ: ©) T .
(A) == (B), TFY tﬁ/ FreS
(©) wr W ——
(E) orafta g L) : (E) FgAfEwy L
JKL-Z10] = - 3 [ Contd...
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)l‘f/ IMe selling price of 10 articles is equal 10 cosy
4

price ol'12 articles, The percentage pain or loss in

WY Pterinal fertilisationn does st ocear g

Clioses e srost appeapriate aswer Tome the

this trpmsaction is:
options eiven below

il .
A | iy —‘i-"».. Tinss (1 200 gain

(A Tlens (Y Cows | .

TR AW T (O 20 doss 113 33Tnﬁ. loss

(E Owesnien not attenpied (1) Ouestion not attemptedd

Fprafeiliaa 08 B aa Bfsea ae gar 10 Arpsit b foram g 12 arAsit F T YT

fnaleriaa fe) 0 wffves auges aoc- ArTVAT Y = v i erg st e ar afEe e
WESI LA (1 (A 165 Zonmfa (D) 20% A
(€y AN g (Y N 1 () "n“,.. IE] (I 33 *]_f% v
(1 M3aRE uN I,g/u;/ srqafer wa

-

‘ Amit deposited T 2500 each on 1 January and |

) - . : 5 A

T Deficieney of which of the following causes ‘“}
o July of a year in a bank which offered 5%,

cracked feet in poultey? : -

compound interest compounded half yearly, The

Choose the moste appropriare answer from the .
i ’ interest earned by Amit at the end of the vear

options piven below:

Wias:
(A) Vilamin D (B)  Magnesium | | X TRF &7 T 2500 GES AT g T2
1y Zine (D) Biotin @ﬂﬁaﬁrqmﬂmﬂmﬁﬁmm%mmﬁw
1) Question not attempted eI e | e e T R E I R R S e i
fr=fefaa 3 3 femdt et Fawe § ¥ wet (e st ¥ wfie =t ww =T i e o
1) =} FHo Y (A) T308 .L«I'/? 306
fmﬁmfaﬁfﬁémﬁﬁw‘wmgﬁ: (Cy %300 (D) T304
(A) fEfmD (B)  AfifaEm (E)  Question not attempted / 37wl ws
;11/1/&??: (D) =EEs
(I &ﬁ?ﬁ‘aau 4 While doing a caleulation a quantity is wrongh
multiplied by % instead ot % By what
J-'/Thrcu numbers are in the ratio of 3:4:5 and their percentage the answer will ditfer from the actual
L.C.M is 960, then the sum of these numbers iy A
#ﬁﬂmﬂlﬁiﬂﬂﬂmﬁﬁwwm Qfﬁmmim‘imﬁmmmﬁnﬂﬂ—
AnTTEAF V60 ¥, TG WY 751 Ay : hm 3 o 81 &1 i o e
I ﬁ‘frcmr uftvare fir=t g
vf}{ 240 (m8) 144 ' 5 4
- A 171g% B) 16630,
() 192 (D) 180 T : 0
. . R (D) 1605 %
(I5)  Question not attempled / Nﬁ‘r‘rﬁfﬂ uy \;—{-E}'{{)uusli(m not attempted / aﬂ?rﬁﬁ‘sm
JKL-Z10] =JZ 20 | Contd...
———
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95

T/‘

,‘Jw/ The smallest 5 digit number which is exuctly

4

Ravi covered a distance of 2 kpy with a1 certain
speed. By what pereentage he should increase his
speed so that the time aken by him 1o cover the
same distance s reduced by 25944

ofa o Ffea @ 0 2 faah B g0 Ao
st 7 AR A wlama aay iy i s 3
i FE W IA 280, 9 gy o

(A] 33 1 (Ry 259

© 20 D) 165%

A7) Question not attempted / 3w w4

The average runs scored by a batsman in 9 innings

is 35, How many runs he should score in 10

mmings  so that s average rmuns  scored

become 657
TF Feosls 2R 9 UTiEl § H1Ed 55 I S90S
1 10T Uit T 5% fare= & 5910 {6 3ges o =61 3|a

63 ¥ =

(A) 165 (B) 155
w7 160 (D) 145

(£} Question not attempted ;’@Eﬂﬁ.ﬁ"ﬂﬂ

L.CMof2.4.0.36and 1.08is:

2.4, 0. 36 AT 1,08 %1 AR FAGEE
(B) 036
25.92 (D) 108

(C)
-:(('_Jucstinn not attempted / Zﬂgﬂﬁ”d a4

(A) 21.6

divisible by 6., 7 and 8 is:

5 s 7 wad wid W w6, 7 A 8 A i

faanfsm v 2
“TA) 10056

JE 10168

(13) 100 {
PO
() 100

(E)  Question not attempted / sl 4
P \ - "'}‘ﬂ.’{

20

i

\ﬂp/ Seema invested 7 5000 ench an two different

banks at simple interest for 2 years, The difference
hetween the sumple interest recerved from these
fwo hianks s 785 What is the difference inthe rate
ol interest of these twao hankdJ?
i A4 Al Mer aer AR O UETE 07 S0 5
s #ard e 2 A & fem farm e 2rat 41 5
UTH HUTI 2200 A T61 3000 7 0 2y 2 41 e] 3 s
21 TR ST TR
(A) (1)
(C) 0.08% (1
-~ ’ e fos.
ET Question not attempted | A=2#174 Dy

1.2% RA

() 4%,

iVwﬂ’/ Approximate age of sexual maturity of 2 Huffalo-

bull is:
Choose the most appropriate ansveer from o

oplions given below:

(A) 22 months By 15 months
(C) 38 months (D) 2% months
(E)  Question not attempted

faefafan faFea v 7 Faifus 99+ 7= ==

UAT 22 HEH (By 1554
(C) 38WEH (D) 2897
(E) a0 94

\_J/B'l/Which of the following staternents is incorrect?

Choose the maost appropriate answer trom 1he
options given below:

(A)  Metal oxides are basic in nature.

(B)  Almost all metals combine with oxveen w
form metal oxides.

(C) Most metal oxides are soluble inowater.

(D) Metals react with water and produce &
metal oxide and hydrogen cas,

(1:)  Question not attempted

Fiferfem o o ®=-w s we 30
fr=ifetfea famew 0 0 watfus 39955 70

(A) I ST w3 e A )
(13)  COTIT AT AT ST 3 s 60
T & TR =TT 2
ACT ST S 6 ST o e
HId 2
(1) WU e st @i @ s e @
- SUAUIES Adl Qg na Ieq=t &1l 2
T IO
gt 1 annld...



EOHIRG TN

: . . . conmi™ s celebrated all over Raja
U Seleet the incorrect statement with reference to | 104 “Goga Nayami® 15 €€ Jasthy,

metals. in memaory of:

‘hoose the mast appreapeiate answer from the . — )
Choe . pprap Clhoose the most ,-;pprnﬂf‘h‘f-‘f-' answer from the
aplions given below: :

(A Bromine is a very rare metal options given below:
(13 Gallium melts when kept on a palm, (A)  Devnarayanji - (B) Tejaji
5

(v Sodiom s so soll that it can be cul with a (D) Pabuji

() Gogaji

Knife.
(1 r\;:rcur}- is liquid at room tlemperature, (13) Qu:cﬂéi{m nat attempted
Fy Qistion not 2 1 e
iﬂﬁﬁ?%;:g;l;:g‘;r;qmﬁﬂmﬂw gmffm—ﬁmﬂ T TAHET AT
N s ' i
Frrferten faedt 3 Q watfives auge s Frefefors frert i & wrartfires 0w 377
:;: ﬂ?ﬂmﬁ;;ﬁmwgl () FmESt o (B) TSt

e (D) T

@ mm#ﬁm%%sﬁa@ﬁmm (C)

HEA R (E) mjaﬁmw

(D) T () EE F F AEE
BRI o
(E) Sgef@ws 105 Which of the following is not an example o ©

. =
.HH/ = : chemical change?
H03  Concave mirrors are used in-

a A té:r_'r(:_:;h Choose the'mest apprapriate answer from th2

b. S:dL‘ mirror of vehicles options g‘i“v'gn A -

c. Hcad'lmhts of vehicles _ o

d. Solar gggkers (A) Buming of magnesium ribbon

Chooserthe most appropriate answer from the (B) Ru;t;;g ot ifon

options ‘given below: 1 F4

(A) bYandconly : (C)  Formation of curd

(B) a,bandconly D) C 3

(C) b,canddonly (D)}  Crystallization

(D) a, c.and d only (E) Que:hon not attempited

(E)  Question not attempted

S ﬁnl%ﬁaaﬁﬁaﬁmmmmﬁawﬁammau
i |

g/;"_féﬁm R

: T4 w1 (ATeE) 2w 3 )

d”a’rri‘f %F?E_-ﬂ:z A & E‘QI"”E_E‘IFMFQ’F‘ 8 & waffire suge 3o
d. Hrgwa (A)  ArfRres o s ST
aﬁﬁﬁvwﬁmﬁﬂmﬂﬁmmw@ _
(A) Eﬁﬂ{?b : (B) Eﬂ%imm
(B) FAcda, h&ﬂn © whars
(C) aﬁ?fb ¢y =
(D) Wu L?Fth () ¥ S“W
(F) et 74 - o

LS
JKL - Zlﬂ']r % 22 by [ Contd.
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: sal mestng wal sed tron pipes are
> opmevenl RaEnng galvanese
1o Iv E
cated waths
Choose [ maost appropriate answer from the

erions siven below:

-
119

Which of the follrwang statcrnents 1%

U T
about the red wellow wanl ain Bagacthan’
- - -

o ) T
Chonse the mast appeopeiate anccser from 1

aptions prven below

turrpeet

v Niekel (Bl Copper (A)  Thisseil is fured by the fivcann of pranate
o A (I Manganese schist and gnesis rocks
(RS s LR " s ~ - ) .
Quesiion not attermnpied (B) This sl 15 found m Eakaner and Farroe
SEURGTORT 1T al il
IS I VET R AR F o S S g 9 area. _
TR T S R () This soil has enough guantity of lime aned
Tr—mﬂzaﬁfﬁmngﬁmv‘fl nitrogen.
A e (BY AT ATET (D) It is not suitable for the farming of
) &= iy = groundnut and cotton.
() EEEiE (E)  Question not attemnpted
.. e S R B 3
T § @1 el 371 F m=a § Fofataa g g

i¢7 The Indian Wildlife (Protection) Act was
implemenied in:

FE-AT F93 g2 20
ﬁmfaﬁaaﬁ%ﬁﬁﬁwaﬂ‘mwgmw T4

Choose the most appropriate answer from the

] T - f = ":-.F—-r [FUES
oprions given below: (A) Fegz = oAz mar i e 5 frr
(A} 19§] (B) 1968 Fadr

() 1972 (D) 1976 BT T a1 S S AT i 1 a2

{E)  Question not anempied

(C) mwﬁmwﬁwmmﬁﬁqﬁmﬁa
YRATE 3 I () srfufran an g . '

(D) T® A%t auT T £ 5 5 e I
Wmnwmﬁm%mw : T8 Bl
AT 1981 F (B) 1968 %
C) 1972 % (D) 1976 % (E) sigafa v
(E)  s=fE vy
-~ . . % . .
.'mﬁ ;3 R 5. S R B oo e m/ﬁccorc'lmg to the Census of 201 which of the
endangered plants and animals is called: following districts of Rajasthan had the highest
Choose the most appropriate answer from the literacy rate?

uplions given below:
(A)  Black Daw Book
(B} Red Data Book

Choose the moxr appropriate answe
options given below:

T from the

(A) Udaipur (B)  Barmer
(C) White Data Book (C)  Kaota (DY Aim
(D) Yellow Data Book (E)  Questio o
(L) Question nat attempled e
a?amtrfmm{mﬁgm;ﬁmnmﬁ - wuﬁwrum#ugmnmme}aﬁm%rmﬁ
S ST 1 S0 S T A B, e . ﬁﬁﬂﬁrﬁﬂﬁm&mmuﬁﬁmam

ﬁt{fﬁf@aﬁm—qmﬂmﬂ"ﬂmmﬁm@: ﬁ“lhﬁﬁﬁﬂﬁw’ifiﬁnwﬁha;a

UG 3T T
A =wEmEm b e T g (A)  Fzaqe () srei ¥
(©) *%Tszamgaa (D) el erer g (C) @y a5 e
}E e - ¥
e o TSN (E)  sTyaftr gy
KL-z) = 23

| Contd..,
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Ya

Which ol the following census years had recorded

H)f/\‘-'lm.‘h of the following are the parts of the b

the highest sex ranoin Rajasthan? exeretory system’?!
Choose the stest appropriate answer (rom the A Tlreter h,  Kidneys
options giyen below: ¢ Gireen elands . Urethra
et @ frg o S samoen 9 s . Urinary hladder
galis r?fﬂ'!ﬂ‘ﬂﬁ o fm e f hose the wrest a‘rrprupr.l'.r:r(' answer s
(=Y e i
faafafay f’ﬁﬁ?‘ﬂ 11 1} aEffirs 39 I97 T4 aplionsg g|\'c-n helow
3 3
= ) 1]’ |
uAd "EH 1 (A 5: ¢ and d only
~ LYV K
(13y 1971 (1) MO J and e only
e iy
(cy 1osf™ Tq_mw\qg% (C) hoc,dande only
Dy 20002 () ach, dand e only
O\ ‘ - 1
(F)  Question not attempled / m‘ﬂﬁﬂ B (E) QLI-L‘\IIUH not attermnpled
N\ ﬁn’ﬁaﬁz}*wnw_ﬁmz—qﬁ:#ﬂ%w?
Ly &Y
Amunge the following organs of respiratory a. I:EFJTF',.::‘! b. T
svstem of human beings in a proper quuCﬂcc in & ‘-ﬁ'?'%m d. TAATT
—
order uflhclt occurrence: R
¢ ) = Y E - e ma - . ﬁ_‘-._—
a. Trach;:‘:::, b.  Alveoh ﬂﬁ?ﬁﬂ{ﬁ HH AR S :
o =
~ . A) FAAa.b,cHTd
c.  Lanmsg d. Nasal cavity (A) a,
sl L.FB/ E{I"dla'a c.d 3:?{7\.
c. Bronc;}}y
M =17 : ) %Mbcdﬁn
Srfafaa ST F1 oEa i ged gt § 3R (c
" (D) $85. b dsie
frerfy s77aT O 9 § suaterd HifaT: o
~ () 3@y
a  @rEAend b.  sfuer (ufeeETe) N
gt
c. B @R d. A B .
= \l/ld/ For artificial insemination frozen semen

e. ‘H’H’ﬁ;ﬂ"ﬂ?}

Choose the, fm;_-.t appropriate answer from the

oplions gi}}gn below:
1 ferw o faeredi § & matfas 399 3T FHI

(A) d, Gy © b
(B) a, c'ﬁ'b [
't R quu. b

wﬂfa%%hu

Quéstion not atempted / ATafE w4

()
£
JKL-Z10 ] = 24

preser‘ft;? at in liquid nitrogen.
N

Chooseg~the most appropriate answer {Tom Lo

upnun{},{tcn below:

FHfEm mﬁm  feu fensitfaa & w1 23 r5g=-

r gfrfir fama s &

Ereferftay famredi § § gaifys guge 570 =

)

E-S)ﬁ“ C Lt‘r”// —14v C

Mo c (Dy  —160°C

0N

Question not attenpted / AN T

LY l Cu['ll‘.t]--'

[ e

(A)
(©
(L)

23



M_AHJ]\ is deficient in_

Choose the sy upp_lr;'nr"m ‘«mquu from the

optioms given below: &Y

(A)  Calcium (1) ‘i11’|11iﬂ A

() Tron (1) uqmn B,

(FY  Question no alempled |

a8 :Hlu

Frafefaa e ﬁﬁﬁaff‘ua;:imwy
(A)  FHoEIH (13 fa=fim A

(©) I G by

(E) AR W (Y|
i/ ;]
Yo Farming that combines crop firbduction with
livestock raising is called: N

LB7

JK

Choose the most appropriate "1|1lm,r [rom the

options given below:

(A) Thoom farming p
(B) Mixed farming .::
(C)  Dairy farming o
(D) Mosaic farming [t}
(E)  Question not attempted €%

A IFITE S 99 T, aﬁm*ﬁméﬁﬁ
T B

eTetEy fasaat ﬁﬁ@rafﬁ?asmﬁ“g I T

(A) WE‘HT .

By fatm a (e i), -r
(C) 239w o
(D) WA= FIET (\J
(E) wqafa 94 N

N

A shopkeeper marked the pli;ii.‘li' of an article
which 1s 20% more than its cQ'it;,priuc He sells
the article at a discount of 15%. What is his
percentage pain or loss? .
(A) 3% loss (13) 5';,:1-.Ji.g:ii|1
(C) 2% pain (D) 3rgain
(L) Question nulnllf.mplui f\l
1, ZHETAZT U ] o Y & LA ¥ S Iqk
T gE | 20%, AiE ) aw \‘I"ﬂ @ 15% P2
(27) 97 9 21 ) 20 wfmorﬂrmﬁﬂul‘cwm
'.Pn'"'l
(A) 3wl ML A
() 2% wm () A% e
(E)  srqafa gy

L-710) =

24

25

o

SR What is the principal jmount which earms T 2020

"o
€

'n(.f\émp forest block® in Hh;l!lill!.l[';l.

1

as compound interest for HI.'L'UI]E:JI vear al i e ol
L% per anmom? -‘

Vo e ek 26 s o apr ek o ';[ﬂi 2 2000 sl
&I o E T U R, 60 ey e

— 4
sty 7 30,000

(A)  T22.000
(C) T IX,000 (1) 72000
(15} Question not attempted I?ff["lf”f s

An amount of T 4800 15 10 he ("lisjr':lnuul AT <
A, B and C in such o way |hﬁ1. the share of A 1
40% more than the share of Band the share of ¢
is 20% less than the share ut";f.f'l he share of "1
is: |

3 4800 1 A BT A, 13 31 C Az w0
STt R o6 A 36T 9T 13 36 0T 1 400, iR 2 e
AT 38 20%, F 2 13 % ‘F'f‘; i

(A)  T3200 (B) 1500
(C) T2100 WYX 1200
() Question not attempted | 317 74

Rajasthan s
d{:\'l:i()[h: das aconservalion reserve [or

. . BN -
Choose the most afipropriafe answer from the
L)

options given below; L{Y
(A)Y  Tiger () "Camel
(C)  Black Buck (M Peacock

(1)
I K w200 o, mmn 1y

(ol eisrtom Pty w0 f i o
T .
Fraferfira el 1) 4 mﬁﬁa'l U

Question nol |Ian1;1u-]

e

(A) s b (I ‘i
HCY W (W
(1) Sl usg

| Contd...
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A2

U2t

Which of the following are the main causes of
deforestation ? |
Building houses and factories

b.  Using land for cultivation

c. Conservation of wildlife

d. Making fumiture

¢.  Toimprove soil quality

Choose the most appropriate answer from the
options given below:

(A} a banddonly (B)
(€)' b.canddonly (D)
() Question not attempted

ﬁ:%ﬁaaﬁﬂaﬁng%aﬁq.ﬁq-ﬁg@m
&

a, b and c only
a, band ¢ only

a. 90 3N FEE F57 i
b. @ & o i 5 v

c. F=ISTal FT HHT

d.  Fft= T & fog

c. T{Elae.lg?ra?nﬁﬁu'r{ﬁaﬁrq

1 few o fawredt # & aratfir suge 3w

(A) #acia, b3fitd (B) aacta bac
[Cy FA@b,cHd (D) Facta, baie

(E) 37w v

Which of the following is an artificial setting for
protection of wild animals?

Choose the most appropriate answer from the
options given below:

(A)  Wildlife Sanctuary

(B) National Park

(C) Biosphere Reserve

(D) Zoo

(E)  Question not attempted

el & v % fou frafafaa § @ S0

Frefafad fased & % waffors suge 3w
(A) F=T4TT sngamg

(B) T Tm

() Fatzmm

(E) :ﬂj’ﬂfﬁlﬂ‘:‘l

—

JKL-ZI0] =

25

1]43/ Armange the following districts of Rajasthag i

descending order according to population densipy
in 2011 census?

a.  Bharatpur

b, Jaipur
c.  Ajmer
d. Alwar

e % frefafaa et #2011 F s s
ST T T 5T F ATHT ST w5 G
wrafeas Fifsm)

» E Grorouf
. Ta:: ’Tq}—qnqgazz

Choose the most appropriate answer from e
oplions given below:
A1 few e famredt # & wraffires sogw 3 )
(A) a,b,cd
(B) b,acd
(C) b,d,ac

UPT b,adc

(E)  Question not attempted / ATt 7%

m/Whil:h of the following soil is found in western

Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Red and yellow soil

(B) Mix red and black soil

(C)  Alluvial sail

(D) Desert soil

(E) Question not attempted

Frerfafiae o @Y.t gar afénd werear i ard
27

frerferfian faaredl 3 @ waffira sz s T
(A) et 3i et gar

By il wmer ot apet et

(C) iy a1

(D) wEEyely T

(E) orufaay
| (‘urltl'-"




Iih: Which al the Il\|h1“”“.

prevented by Ui

disepses cannot be
L3 T llw v
Chovse the mmosr APPrOn g
OPIONS piven below:

Aaiswer from the

(A Iut!.n‘ufn.\n:\; I'.13y
(B3 Small-poy

W Hepatins

(1M Scun )

(5 Que htmn At mpey

F=iafEs 2 & fag oy T AW 7y T T
T?"TTT"T‘FH'_-H g

Fafefas feaegi iy Frmfs}a,-wm I T
3

(A TEREF (T (B g
(Y T (D) w=wat
B IEiE uy
J26 Which of the following is noy a viral disense?
Choose the moyy appropriate answer from the
OPHOnS siven below:
(A) Typhoid (3) Cf-;icka.-n pox
(Cr Measles (DY Palio
(E) Qu::wlmn not attiempred- !
=Ly F-81 T firamoy (ST) S 7
F=fafas =i 4 8 ma wan%zamaﬁta%
AT e (B) Pt iy
(©) TEm (D) gifern
(E)  seaf@us 7

|'.” Who is the LD:llLa.t‘pJ.r I'ar team ‘Hockey
Rajasthan’ for 14® Hockey ]ndn Junior Men’s
National Championship 20247 -

Choose the mosr appropriate :msv.cr from the
options given below,

(A) Merg

(B} Himanshu Kumar Sharma
(C)  Lovish

(13 Anurag Suthar

(L) Question not allempted:

1451 ¥ ?F—'WWW! :mwﬁquﬁrrq 20249

I T e Tm*-mwﬁn iy,
ﬁﬁzﬁ@a&mnnﬂmﬂ“&mmamgﬁ;

(A) g
(B) f?m:! FHA 719
(C)  nfaz

UBT s gan
(L) 0y

KL-z10) "=

12

27

26

ll.aﬂ/ct:urdlm_ W the modified huducl

1287 What was the ranking of India in Paris Olympics

2024 Medals Fally?
Choase the most appropriate answer from the

options given below:

(A 72 (B ok
ey Toth Dy 7y
5 Question not anes mpted

2024 Aty SEfF F e AR T aqyry e

T T
Frferfian fraari 4 mrrﬁm;m"‘—fr‘:
(A 72 By eoaf
(Cy  Toa ed”)” 71 at
(E)  319efm ug '

Whe among the following presented the Annual
Budget. for the Gav ermment of RHJ-LH;}EJ.': in July,
*-014'1 7

Choose the most appropriate answer from the
oplions given below:

(A)  Shri Gajendra Singh Khinwsar (Khimsar,
(B)  Shri Kirodi Lal Meena

(C)  Shri Prem Chand Bairwa .

(D) Smt. Diva Kumari :

(E)  Question not attempred = °

ﬁqnﬂ%{ﬂﬁiﬁﬁ' 2024 & TR T =
Hﬁmmnﬁﬂﬁm).

El=itsiten) fowe 4 § gaifis 3G T
(A) Bﬁﬁaﬁf{gﬁaa'm{ﬁa'qqn

\BY™ st firEt sy ‘

(C) =it I 3= &eay O
(D) mﬁmm ol
(E)  smwfmwsr e

ot

S024.23
Rajasthan, what amount in Ruma 2008 towards
interest pavment?

Choose the maoss upproprire mw er from the

options given below,

(A) T0.07 By 2 1ht}‘

<y TIm (S "\,q‘*

(E)Y  Question not atempred :
Trmr:{%trfmﬁiam‘-nu 23 ¥ STHHR =T
SR § R vy s

ﬁmﬁlﬁﬂ'ﬁ Fﬁ_ﬂ\lﬁﬁﬂ‘r@mmm‘h
ﬁaf T 007 Wy o9

6y ran (LRI b

(E)  srgafe gy
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LM

Whiel ol e Tollow g state has been paired with

pajnsthan under the *1k Nlarat Sheeshita o™
celiemie of government of Tidin”?

e (e mros apgrrepefinte e Trom the

aptions given el

(A1 dharkIind (1 Agun
() Pelangnna i Assom
() Quieshion not attempied

I BRI O AR T I AN Mg G i
o 1) A sreena sl oa o

A5 feam apy fomwenl 0 Q) wware guyges g s

LS Sl (1 g

(C) AT (D) anm

i1y e ug

The “Trinetra Ganesh Ji* Temple of Rajasthan is

located in:-
Choose the most appropriate answer [rom the

oplions give below,

(A Kumbhalgarh Fort

i3y Jaisalmer Fort

(Cy  Ranthambore Fort

(D) Bhangarh Fort

{12} Question not attempted

e 1 - o S wfer et fem
ﬁwhf@ﬂhmw?ﬁﬁwﬁi}mwgmm?ﬁ

(A) Fverrs fwen  (B)  Swene fae
w1 it farn (D) e fen

(1)

HTAfRA 94

I/ICB/ Recently in 2024, Rajasthan’s Animal Husbandry

JKL-Z10 )

and Dairy Minister launched camel milk with the
brand name:-

Choose the maost appropriate answer from the
oplions given below:
(A} Amul

(C)  Nandini (13} Urmul
() Question not atlempled

mﬁznzﬁmmmmm

ﬁﬁfﬂf@ﬁhﬁmﬁnn

(3)  Saras

27

P
{34

28

which of the Tollowing is not correet abong ),
National Mission Tor Green India (GIMY?
Choose the st ﬂ;rpﬂ:ﬂ."‘fﬂlf' answer [roy 1y
aplions jiven below:

This mission has adopted anintegral er.,

(M)
sectoral .'1;1prui1t'h.

(1 I is one of the nine missions oulling,
under the National Action Plan on Climgy,
Change (NAPCC).

() I aims at  protecting, restoring
cnhancing  India’s  diminishing  fore,
cover,

(D) It envisages a holistic view of greenin:

(I Question not attempted

i e F few wfr e (G s e
i 2fear (GIM) F T2f § FIF-597 FAF Te7 57 7
frefafas fawed 4 & Aaffas sogm 20 ==
(A) ¥ fem 3 wE wmm osiar A TEe
AT B

7R S GfEd o W A
Fﬂﬁﬂ?aﬁﬁmmff‘rrmn\m(.‘:z—,
F.|

V€Y THRT 27 I F w4 A
TR 3T AT Z4 B

7. efraredt & wom i i afrae= =
Bl

Hafta oy

-]

(B)

F1

(D)

/Ji}
435 Who amongst the following Rajasthant wome:

players got the Arjuna Award in 20239
Choose the most approprinte answer from o
options given below:

(A} Avni Singh Rathore
(B)  Bhawani Singh

(C)  Divyakriti Singh

(D)  Mohana Singh

(E)  Question not attempted

ﬁqﬁwq%ﬁrf@mﬁmqa% 202

JUERIR W o

ﬁq%ﬁaﬂﬁmﬁﬁﬂﬁaﬁﬁmmﬂfﬂ
3t fie vty

L)/\md’rﬁm

(©)  Fergfa fim
(D) wre fag
() srwfea gy
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ollowing fvers is in Rzjasthan?

P02 miven below
B I"':'T:'__'::
Bj Riarsl

C Tunobhadr
D/ Godsuzs

B} Question not anempted

jeq’
‘-'-.',Iz\ ..:

(C) ?-'-P""T}.T

T —
(Ej C eRILE

HSIF
KL-710) =

AR FAR T UIER
f‘aar-—rr-, = wamaa;mmaq

qTH

el k1

_'-. (et zom g r‘r-.--. = 2 & ey il
g S o e
‘___- T em—— - — ——
: = = = F T T e T
—— —-.'_;_:'_-‘—T-::_E"‘_r‘—'—"——-'-‘:'f
= ey = e
= i
. . _p
. e -
= A0 T AT e
_:- - - - P— i e = b =
= - = s i TR |
B, i e S B
S iy - = RIIfs
oo RRE T =ao L e i T e e :.'{T the
TOUSE S el
s 5 Nzgans
. e — ™ 4 -Pﬂ'
- eI L} AR | 1
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29

28

% duitersiton i mill nobe derected by
usHnE
Crerae the mont appropriate oo s er feoem thie
Phons given helow
- - -1
1 Tewdimr g
14 dLFd - . 2 LEF )

SUon not attempted

=_~.::....'—"—-,;‘-,“T-'-_—"aj7~’. 7T EAR T e o
- - - —

m%u——-ﬁvnnﬁmmT?
TEERE AT

iD)y ==Fa==zv
{Ey F==imyz

(A)

(Bl

Match List-I with List-JI
List-I (Product) List-IT (Description
2. Buuer milk . Bv-p

preparation of

roduct in

chhena and paneer
b, Skim milk Soft drink made
of whey
Fat separated milk
Fluid obtained by
chuming of cream
nto butter
T F FE gEL =1 e Fifs
mm ([FwrE) mﬁ 11 (F=u)
i B N o A odn
} m?:ﬂ -39E
B F O § 7 i
ER:ITTI%FIE.:}I
I F T
ERIER: Bt Rt
Choose the mosy appropriage
opmm:. given below:
ﬁqwﬁﬂﬁﬁﬁmﬁhﬁmﬁwqﬁ-
L=-Wob-Leaan g
a-NLb-1¢. IV, d-1
a-MLb-Lepvod-n
a-Wob-llLe.1.d-n
Question not attempted / ‘ﬂf‘ﬁfﬁﬂ Rl
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¢. Whey
d. Whevi

1.
v,

b. ﬁa—qf‘qﬁ‘\\ I
Wﬂwﬁ‘;'\ﬂu.
wefr Lo v,

C

answer Irom the



nrls 0% boys in a class. If
Jd1 o Therearc 40% girls and 00% boy

i mnnlwrafhﬂ\'ﬂ in the class is 7 more than the
Oy

number of Ef-Td-H. then the number of boys in the
i
class is: o

@mﬂﬁmﬂ’ —refat 2T (0% w18 8 afg wan
qmﬁmag&u‘m 7 arfirs &, A e o
SEcak Ak IN

s U q_f
YA 20 ‘*r ﬁg{i_z
B) 25 O 'Td\lfqlw:"g ]

N
€ 22 o .
& 18]
7 21 o
(E)  Question not attempted / 37w T

<t
i

- . .
J4%° The avcrag%af 9 consecutive natural numbers is

A', then th€aberage of the 5 largest numbers out

Nﬂ/Thc main objective of “Heal in Rajasthan™ is:
Choose the most appropriate answer from the
options g’n-cn below:

(A) 1\?:1"':”“* for large scale afforestation in
f}*“.if'-'*'lmn.

(B) T.n'l”:‘:"\"':r Rajasthan tourism from the
lpsses during Corona perind,

(C) Tolestablish hubs for medical tourism,
catering to both domestic and international
tourists for sccondary. tertiary and
qui\r:crnary care procedures.

(D) Tc promote Rajasthan folk festival at
mtr:imnhonal level.

(E)  Question not attempted

et 3 upredT Hifa F g ILTT FRT
ﬁnﬁ—rﬁaﬂﬁmﬁﬂﬁﬁmmzﬁ?ﬂ

(A) mmﬁa%mmuﬁmﬁmafﬁﬁmﬁ
T AT

@Vﬁﬁmmﬁg&nﬁﬁrﬁﬂmqﬁﬁﬁ

n@ummﬁqﬁuw&aﬁ%%ﬁi‘“
mﬂﬁﬁﬁmmwmw

mm&maﬁ#ﬁwmmf‘ammn

(D) USHIH ¥ e Iegal &1 g mr o
ECiEIe

(E) aﬁﬁﬁma'

l‘lﬂ/‘Thc Goﬁernmcnt of Rajasthan notifies ' Amnestv

Schemq-lﬂld' for settlement of dues i in-
Choose(the most appropriate answer from the
options'giVen below:
(A) Stafe and Centre GST
(B) Pre.GST
(C) Post-GST
(D)  Futbre-GST
(EY Qulestmn not attempted
mmm U AIe2024 R A
1 e B
frafrfeg et i waifes segm 36T

AT TR a e GsT

(B GSrgda
(C)  GSTFvgm =
(D) wRE.GST =

(E) sqafe wy

30

ofthe 9 numS;J?rs is:
TR 9 WHfoH HEATRA 1 Ated A° R, @I
o TS BAS TR 2 G w5 g R
: a=
(A) A 1,:_-_3
(B) A+4(N
_ ™
JET A3y
LDy
{
o) A+2D
(E)  Question not atternpled / aﬂiﬂﬁ o
s;}l
<t .
~JAT The averag€df first 11 multiples of 13 is:
13 F yaw Igl:%grrmiarr v &:
._u\-)/ 91 O
L)
B) 16 O
(C} 78
(Dy 77
(E) Question not allempieq 4 %
49
JKL-Z10]) =
= _—‘-——_—_
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It-lti Who chaired the Apex Commitiee of the ‘Natignal
Clean Air Programme’ on *‘Swach Vayu Divas’
(International Day of Clean Air for Blue Skics)
held at Jaipur in September, 20247
Choose the most appropriate answer from the

options given below:

(A)  Bhajan Lal Sharma

(B)  Bhupendra Rana

(C)  Bhupendra Yadav

(D) Bhupendra Rawat

(E}  Question not attempted

= 9 fmw e e ¥ o w=s g
Sty foaw) o famen-2024 § sage & go
T = 91w o e wfaf A srea

l.;_ll/Which of the follewing rivers of Rajasthan lalls

in the Gulf of Khambat?
Choose the maost appropriate answer from the

options given below:

(A)  Brahmani (B3 Chambal

(C) Mahi () Danas

(E)  Question not attempled

Terar | aed arett Frefafaa 7 @ waah 6
T 1 wret & finedt 27

frefafa fawedt # & watfirs Iggw 397 13-
(A) TR (B)y ==

() mm RaLl

(E) 3wl 9

faret i _
Frafafiaa fawedt § & maffies soge so0 9 \3,.1( Kolayat lake is situated in which of the following
(A) = orer gt places in Rajasthan?

(B) =T G Yo “J‘LL{ Choose the most appropriate answer from the
(€) ‘i‘a'_ﬁ e S options given below:

gma | lAyany-op
A‘BT/ L /h":——-—r"[ A) Kota (B) Udaipur
(E) = i) (C) Bikaner (D) Jaipur

/_":‘mjch of the following Wildlife Sanctuaries is
situated in Rajasthan state?
Choose the most appropriate answer from the

147

options given below:

(A) Annamalai

{B) Shant Ghati

(C) Ramsagar

(D) Bandipur

(E)  Question not attempled

frefafaa § @ F13-81 3fiT Sgreg gsedm@ §

fega @
Frfafas faeedl 0 § maffas 39g® I

(A) SR

(B) Imid "1
THATH

(D) =E

(E)  Question not attempted
ey § Fiead 3t Fafafas &« fem @
Frfefas fasedi & @ waifis suge sm =

(A) T (.B’:/aﬂg_g
(C) e (D) A
(E) ¥aita 9«

350  Inwhich year did Maharana Bhupal Singh ascend
the Mewar Gaddi?
Choose the maost appropriate answer {rom the
oplions given below:
o and o wreTorom e e 3 S e et
Frerferfa foamredl § & watfires sogw s T
(A) 1934 (B) 1930
€7 1931 (D) 1932

(E) af@wd
IKL-7210] ==

a) , 25
™) QJIB)‘(;{_,J o

31

(E)  Question not attempted / HTAIE T4

30
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